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(First Section) Y[H EUs

(Thermodynamics & Kinetic theory of Gases)

1. For a Carnot engine : 1. U & 3o b ol
@ _ T 1T
(A) Q2 T (A) Z_ZZT_Z
@ _T 1 _ D
(B) 2 T (B) g_z:T_1
(C) Both (A) and (B) (C) THI (A) T (B)
(D) None of the above (D) SR W B T
2. Wien’s displacement law states 2. a9 @ favemoe @ fram Fefafad &
that : (A) A X T = Fadi®

(A) A, XT = constant B) (A/T) = -
(B) (1,,/T) = constant _

(©) (T/2) = di®
(C) (T/A,,) =constant

(D) None (D) T 9 DR TEI
3. The efficiency of a Carnot engine 3. T GAE| gol] @ eI &1 I B
is given by : (A) i o /faeh o
(A) Work output/ Heat input T
) B) 1-
B) 1-=
n € 1-2
Q> Q1
<€ 1-==
Q (D) SWIEd oI
(D) All of above
4.  The best example of Brownian 4. FSIRE T BT AE ST ISR &
motion is : (A) N.C.C. W

(A) N.C.C. parade (B) 3 gﬁr D Pl

(B) Smoke particle in air © T ¥ 29 37 TR

(D) T I FIg e

(C) Flow of liquid in a tube
(D) None of these

Series-D B.Sc. —B010201T / K-251 Page - 3



5. A body whose absorptivity is e fis el wff dvesd o foR
unity for all wavelengths is called 3ITIYHAT Thih Bl 8, haolldl © :
(A) Urer U
(A) Yellow body (B) g fig
(B) White body ©) m fie
(C) Black body D) i fis
(D) Blue body
6. Transportation of any quantityin a 19 ¥ fooxl IR @1 AT Bt
gas occurs only when : BT & 99
(A) Gas is in equilibrium (A) 9 AmRIaRen ¥ @
(B) Gas is in inequilibrium (B) N RITGReN 7 &
(C) Gasis in any state (C) 9 ol ) arawer # &
(D) None of the above (D) SWIF H ¥ Pls Tl
7. In free expansion : RESIENIN Cl
(A) No heat enters or leave the (A) o™ § o 9 @ 9 o
system T B 3R 7 R AT el B
(B) No work is done by or on (B) Fom g’ a1 o | 318 an
the system e} grar
(C) Both (A) and (B) (C) THI (A) T (B)
(D) None of the above (D) SR H ¥ Pls Tl
8. On increasing the pressure, the Tq 93 W % BT TP
melting point of ice : (A) Tedl 2
(A) Decreases (B) el 3
(B) Increases © S
(C) Remains constant
(D) None of these (D) T ¥ Il T
Series-D B.Sc. —B010201T / K-251 Page - 4



0. The thermodynamical potentials 0. ST DR YR ©
e (A) U, H,F,G
A) U HFG
A) U.HFE (B) S,U,H,F
(B) S,U,H,F
©) U,F,G,P
©) U,F,G,P
(D) S,P,V,T (D) S,P,V, T
10.  Stefan-Boltzmann’s law is : 10. Rﬁfb_r[—éﬁmﬁ @1 W ©
(A) E=0(T*—Ty") (A) E =0o(T*—TyH)
(B) E=0(Ty*—T% (B) E = o(Ty* — T
4 4
© E="""/ © g="""",
(D) None of these (D) $TH A DY T8l
11. The second law of thermo- 11, SSmfaa o fgdr fm e @
dynamics deals with : (A) ot & e |
A) Conservation of ener :
) &y (B) &S & WRET 9
(B) Conservation of heat _ _
_ (C) ST T TR ¥
(C) Conservation of momentum
(D) Conversion of heat to work (D) @& ® 3T IR T
12.  For the adiabatic process of an 12. Ud 3Fe i ¥ ?@W U b %Rﬁ,
ideal gas, the relation between q9 T AR ¥ g A TeR fear
pressure and volume is given by : ST &
(A) PV = constant (A) PV = [Fdi®
(B) PVY = constant (B) PVY = udi®
(C) PYV = constant (C) PYV = Fudi®
(D) None of the above (D) SRIGT H W Blg 8]
Series-D B.Sc. —B010201T / K-251 Page - 5



13.  Mean free path of a molecule 13. MGﬁ DI HrY Had R Hear 2
depends upon : (A) W\I\o’ﬁ &g TR
(A) Square of the diameter of the _ _ _
(B) Ul Udih AT H AR @
molecule
(B) The number of molecules NASTIEN
per unit volume ©) Hpl] (A) @1 (B)
(C) Both (A) and (B) (D) m_cﬁ _&[ Qé[ E}ﬁ_{f :'gs[
(D) None of the above
14.  The correct relation between V., 14, 3R M AT Vs § 98w A
and molecular weight M is : g
— |M
(A) Vims = / /3RT (A) Voo = /M/3RT
— [3M
B) Vims = *"/kr (B) Vs = f3M/RT
3RT
©) Vims = " (C) Vs = %
M
(D) Vims = IRT (D) Vims = 3%
15.  According to Stefan’s law the 15, Wwd 7 @ PR, Tdh I A
total amount of heat radiated by a :
Y P & Thid TS &b A U
perfect black body per second per
unit area is directly proportional s fafdRa o Hﬂ?ﬁﬂﬁqﬁﬁ Bl &
to the :
_ (A) P AU & T &
(A) Square of its absolute
temperature B) 399 WAAM @ 99 90 &
a9
(B) Fourth power of its absolute
(C) 9D WA &
temperature
(C) Its absolute temperature (D) T ¥ P37l
(D) None of the above
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16. During an adiabatic process, the 16. g™ UHd # = R fad & g
quantity remain constant : (A) M
(A) Temperature (B) R P
(B) Internal Energy
(C) Sfrgd
(C) Volume _ _
(D) SR J PIg e
(D) None of the above
17.  According to Kinetic theory of 17. N @ ST 7 @ g TR N D
gases, the molecules of a gas 3 fa I T
fove in - (A) Badt T fAfdad foam ¥
A) Only one fixed direction .
(4) Only (B) 41 9wa fagman #
(B) All possible directions
(C) HI el & srfew
(C) Along three axis
(D) SWIE § ¥ Bls Tl
(D) None of the above
18. At constant pressure, the volume 18. fd s ® 1M & A N gaHm
of a given mass of gas is directly BT AT 59 WA B STIHATAT
proportional to its absolute 2T 3| TR PR pEe 2
temperature. This law is stated as "
P (A) dgd A
(B) dred fom
(A) Boyle’s Law
(C) STeed M
(B) Charle’s Law
(C) Dalton Law (D) T PR T
(D) None of these
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19. On a T-S diagram the isothermals 19.  T-S 3G R FHAUY &8 & :
are: (A) T-38 & FAWR A &R
(A) Straight lines parallel to T-
. (B) S -3 & IR el YER
axis
(B) Straight lines parallel to S- (C) fadl @I @ ghd W el
axis N
(C) Straight lines inclined to any _ _
(D) T ¥ BIg el
angle
(D) None of these
20. The pressure of diffuse radiation 20. faaRd §?ﬂ fafd=oT FT1 <9 WK ¢
1 | . ~¢ 4
1s equal fo (A) SN Sl Ydcd dl Tdh ?Iss‘
(A) One third of radiated energy
B) SN ol B BT & 8T8
density (B)
(B) Two third of radiated energy © ST ol g9 @1 IR fieTg
density (D) SWIE § ¥ Bs Tl
(C) Four third of radiated energy
density
(D) None of the above
21.  During an isothermal process, the 21. 99N WM @ SRM 4 IR faa
quantity remain constant : Edl B
(A) Pressure (A) THE
(B) Volume (B) I
(C) Temperature (©) T
(D) All of the above D) Y )
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22. At constant temperature, the 22, fRO U ®R M3 QYN @\ H &
product of pressure and volume of qTE AT AT BT U] g Ygar
a given mass of gas is constant. ¥ 9g gy peemar
This 1s known as : (A) dfe e
(A) Boyle’s law ®B) :
(B) Charles’s law
(C) Avogadro’s law © _ _
(D) None of these (D) T | Il Tl
23. Total entropy change in Carnot 23. M ap H Bl T GRad B @
cycle is : (A) +Q1/T
1
@A) e, _
—Q 1 (B) QZ/ T,
® =, (@1~ Q2)
(©) /.
(C) Q1 —Q2) /
" (D)
(D) Zero
24.  Thermodynamical  equilibrium 24, SWNIG AmITaRl & 3 €
means : (A) Tdg |reITeRen
(A) Thermal equilibrium (B) T AR
B) Mechanical equilibri g
(B) Mechanical equilibrium © -
(C) Chemical equilibrium
(D) SWIa I
(D) All of the above
25.  The ratio of two specific heat of a 25. 1 @ o fofre owRi @ fofy
gas is given by : 7= @t | < T Fedl g
— 2 _ 2
@ y=1+; (A) y=1+2
— 1 — 1
B) y=2+- (B) y=2+-
©C) y=1+4+2n ©) y=1+2n
(D) None (D) Pl Tl
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26. The average energy of a Plank’s 26.  WI® QUferd P OART ol 4 w9 A
oscillator is given by : & o ©
(A) E=hv (A) E=hv
B) €= hv _
(B) /KT (B) €= hv/KT
— hv
C) €E=—f— — h
( ) (eh /KT—l) (C) E= (J’Tﬁ-n
— hv
(D) e=7= E—_ M
(e"/kr+1) D) €=Zmrg
27. In a porous plug process the 27. I S UHH § Mg @ RS 9
initial and final enthalpies of the a1f~a| T B
system are : (A) T
A) Equal
() Fa (B) =
(B) Different
©) 3
(C) Zero
(D) S
(D) Double
28. The relation among all Critical 28. W wifde N @ 99 WE R
constants is given by : e 2
RTc _ 8
A) —=- RTc _8
A) v =3 (&) soe=3
RV: _ 8 RV: _ 8
B = - I’c = -
( ) TcPc 3 (B) TcPc 3
RPc _ 8 RPc _ 8
© 755 =3 ©) 7ve =3
(D) None of these (D) T ¥ B3 Tl
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29. Work done in an isothermal 29. Ud 9 % guardl sgord § fdar
change in a gas is : o1 BN E
A) W =Tlog,"
(A) W=TlogeV2/V1 (A) 08e /V1
B) W = Rlog,("
®) W = Rlog,("*/y) ®) 8.("/r)
C) W =RTlog,("
(C) W=RT10g10(V1/V2) © B1o("/r.)
D) W = RTlog,("
(D) W:RTloge(Vz/Vl) ) &.("/r)

30. According to Maxwell’s speed 30. AR @ 91 faaRor W @ IR,
distribution law, the average AMUd I <v>=v 9 T &
speed < v >= Vv of molecules of R B
a gas is:

- @

) 3 8KT
B) |7
8KT m

®)
3KT
©) |7
3KT m

©
2KT
((0) I s
2KT m

D)

31. The following substance absorbs 31. o et eei fafesor o1 saenfya
thermal radiations : N T
(A) NaCl (A) NaCl
(B) KCl (B) KCI
(C) Glass (©) @

(D) NaBr
(D) NaBr
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32. Enthalpy of a system can be 32. f&f fom o ot @ 99 UaR
written as : ¥ forad ¢
(A) H=U+4Q (A) H=U+Q
(B) H=U+PV (B) H=U+PV
©) H=0Q+PV (C) H=Q+PV
(D) None of these (D) T N T T
33. Rayleigh-Jeans law is a special 33, Nol-ui™ T, i Pl fa9ry eraven
case of Plank’s law for : g
(A) Smaller Wavelengths (A) BICI R & ford
(B) Longer Wavelengths (B) Sl T el o forl
(C) All Wavelengths (C) ¥ et & ford
(D) None of the above (D) T H H DT T
34. In an isobaric process work done 34, UG FCE! WhH H &I T aR g
1s: 2
— VZ
(A) W =RTlog. ("*/y,) (A) W = RTlog, (/)
R
B W=5h-T) (B) W =-5(T,—Ty)
© W=plz=V) (© W =p(V, = V)
D) W=0 (D) W=0
35. Clausius Clapeyron heat equation 35, TAMRIT—GUR THIHR §
1S :
(A) 5= 5o
(A) a _ L ar  P(V,-Vy)
T P(Vy—Vy) ap L
B) —=
(B) ar _ L ar  V(P;—P1)
dT — V(P,—Py) .
P L
o _ L © F = 10,-
(©) T T dr  T(V,—Vy)
dp L
dpP L D —_—=
(D) av - T(-vy) D) av  T(Vy-V1)
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36. Poisson’s equation is : 36. RS B THIGT B
(A) PV = constant (A) PV = fudie
(B) PVY = constant (B) PV = fiudis
Yy = :
(C) PYV = constant ©) Prv=F
D) PV~Y = constant :
®) (D) PV~ = udi®
37. Under Joule Thomson effect, the 37. V[d AT W §, 99§ gRaad &
change in temperature is given by fort @io® 71 1 fear o ©
AP
(A) AT = (%% —Rr)
AP
(A) AT = (5~ RT) (B) AT =22 (22— b)
AP (2a AP (2ab
(B) AT = (2 -b) (€) AT—E(T—T)
(© AT =2 (22-T) (D) ¥ ¥ BIg e
Cy \ R
(D) None of these
38. Joule Thomson effect for a 38. amey W B foR AMAFT JHTa
by
perfect gas is : 2l &
(B) Zero B) I
C) Indeterminate
ED; Nome of (i (C) affenRa
one of these : :
(D) T ¥ BIg el
39.  The Quantity (U + PV) is known 39. IR (U + PV)PT Fedl &
as (A) T
(A) Entropy (B) e
(B) Enthalpy
(©) % Fel
(C) Total energy
D | Blg el
(D) None of these ) ¥ ¥ T
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40. The correct equation for a Van 40. I R I T THGRT T 8w

der Waal’s gas is : o= 2
a —

W) (P+3) W =b)=RT @A) (P+2)(v—b)=RT
a —

®) (P+35)(V +b) =RT ®) (P+%)(V +b)=RT
a —

(© (P+y5) (W =b)=RT © (P+Z)v—-b)=RT

(D) None of these (D) T B T

41. For a thermodynamic system, 41. S e e & o’ 6 whE §
work done in a process depends far a1 H R eRar §
upon - (A) T R
A) The path
) P (B) &m & 3faver W)

(B) State of the system

(C) 9 <ard
(C) External pressure

D) For @ upfd W
(D) Nature of the system ®)

42. The internal energy of an ideal 42.  f3UT AU R TH Ay I B AIRD
gas 1s independent of its volume Sol 59 AT W R T8 Al |
at constant temperature. This law < P @) aed &
is known as :

(A) e @1 frm
(A) Newton’s law
(B) o @ g
(B) Joule’s law
(C) ®Ipd &1 A
(C) Stefan’s law
(D) Van der Waal’s law (D) ar SX die &
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43.  The wrong relation is : 43.  TTd AR T
(A) PV =RT (A) PV =RT
(B) Cp—Cy =R (B) C,—Cy =R
(C) PVY = constant (C) PV =frrdi®
0) & =R (D) E=R
44,  Wien’s law is a special case of 44. 99 &1 9 wolie el D Th faory
Plank’s law for : 3TORAT &
(A) Smaller wavelengths (A) BISI R & ford
(B) Longer wavelengths (B) € qoieHdl @ ford
(C) All wavelengths (C) I TRl & ford
(D) None of the above (D) SWRITd H F I3 T8l
45.  Maxwell’s important thermo- 45.  HTIA & I SWNIIaNY T 8
dynamical relations are : (A) 4
(A) 4 B) 2
(B) 2
€) 8
©) 8
D) 6 (D) 6
46. For a triatomic gas, the value of y 46. TUdh %(WTUILE N 3 R y @I HH
becomes : 2l &
(A) 1.40 (A) 1.40
(B) 1.33 (B) 1.33
(C) 1.66 (C) 1.66
(D) 2.00 (D) 2.00
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47. The change in entropy of a 47. o Aem ¥ Qﬁ'ﬁﬁ uRade = grT
system is defined by : fear <rar 2
@) 7 ) 2
(B) VT (B) VT
© (© Py
(D) PV (D) PV

48.  Which of the following is not 48. 9 H 9 DI Haadel B THIOR el
Maxwell’s equation : 2
® (o), = ), ™ (2),-(2),
® G, == ), ® (2),--(2),
© (&), =), © @) =)
® o), = ), o (%),-(%),

49. For giving energy distribution in 49. X1 T O A ™ deH # ol
thermal spectrum Rayleigh and faqeor qam @ ford fow wifar @
Jeans considered : TN foar T
(A) Dynamical mechanics NIRIGEIRIIEE]

(B) Statistical mechanics (B) iRksga! I3
(C) Quantum mechanics (C) dar<H i
(D) All above (D) SWIEd oI
50.  The colours of a star indicates its : 50. TR B 7 YR a=ar &
(A) Mass (A) <A
(B) Size (B) 3MdR
(C) Distance ©) @
(D) Temperature (D) dm™
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(Second Section) fedI TWve

(Circuit Fundamentals & Semiconductor Devices)

51.  In forward biasing, a diode appears 51. o fefd & e SR 9 wU H
asa: BT PRl R
(A) Open switch (A) aT Rag
B) Close switch
®) (B) ¥< Rag
(C) Capacitor _
(C) HeniRa
(D) A high resistance
(D) T® I UfRe
52.  Wein’s bridge can be used for 52. 4N fd%l @& WM 9 & A0 ¥ fban
measuring : S ©
(A) Harmonic distortion
(A) W JHqUT AT E@a
(B) Resistance
(B) iR
(C) Frequency
(C) ¥mfa
(D) None of these
(D) T ¥ BIg el
53.  The pointy intersection of d. c. and ~ 53. d. c. T a. c. YR RN & A0 H
a. c. load line represents : FTT arell ﬁ% o el axar &
(A) Current gain (A) RT M
(B) Voltage gain (B) ool o
(C) Operating point ) & qHR ﬁ@
(D) None of the above (D) 3 o H 9§ DI T
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54.  Which one of diode is used for 54. 49 ¥ q &F A1 SHS YHrT R=al
detecting light signal : BT T I &
(A) Photo diode (A) Bl SRS
(B) LED. (B) Tdo do o
(C) Zener diode ©) SR aple
(D) Tunnel diode D) & -
55.  Phase reversal is possible in : 55.  @ol=R 7 H 999 B
(A) CB (A) CB
(B) CE (B) CE
(©) CC (C) CC
(D) Both in CB and CC (D) CB @ CC gl |
56. The forward biasing of p-n 56.  p-n AR D 3AT AMART Al @ TR
junction makes the junction CARCT GRS
resistance : (A) T T 5
(&) Low (B) S U1 WICI
(B) High
(C) &
(C) Infinite _ _
(D) None of the above D) ST H ¥ T T
57.  Fora transistor Ip = B I +......... 57. cifRR @RI, = B +.........
(A) Ic A) I,
B) alg B) alg
(©) Icko (©) Icro
(D) Icpo (D) Icpo
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58.  The height of potential barrier for ~ 58. fiferd™ @ ford Ul fawg &1 79 Bram
silicon is about : 2
(A) 0.7V (A) 0.7V
(B) 03V (B) 0.3V
(©) 05V (€) 0.5V
(D) 0.6V (D) 0.6V
59.  The bridge which is used for the  59. dI f3w, S I IRAT BT T Ugad
accurate measurement of small 9dT €, bl ©
capacitance is : (A) et ot
(A) Maxwell’s bridge (B) TS B
(B) Anderson’s bridge
(C) SI-wrel g
(C) De-Sauty bridge
(D) Schering bridge ) T o
60. Which of the following is not 60. {7+ ¥ & &9 |1 I Fel el ©
correct relation : (A) Icgo = (B + Dlcgo
(A) lcgo = (B + Dlcpo B) Ic = Blg + Icgo
B) Ic=Blg +Icgo C) y= 11‘—“
© r= 140:_“ (D) Ic = alg +Icpo
(D) Ic = alg +Icpo
61. Photo diode works in : 61. el SIS 7 H o1 FRaT B ¢
(A) Forward biasing (A) 3T 3ffEfd
(B) Reverse biasing (B) uTd IR
(C) Zero biasing ©) T SRR
(D) None of the above D) SR § B T
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62. In a transistor, the no. of p. n. 62. Td ;T%RE"\’ ff, p. n. qfgeT & GRen
junctions are : 2l B
(A) Two (A) @
(B) Three (B) dH
(C) One © T
(D) Zero D) T3
63. Maxwell’s bridge is used for the 63. Haada fas @& W e @ e H
measurement of : fRraT S &
(A) Inductance only
(B) Capacitance only ) N B
(C) Both inductance and (B) @mRe EEC
capacitance ©) URed T emRar gFi
(D) Frequency of a. c. supply D) a.c. e Sﬂ’cﬁ[
64. Addition of impurity in pure 64, g CEEIRER| 3@@* e @ e
semiconductor is known as : P FEd ¢
(A) Doping (A) 3UfAsT a7 Y
(B) Re Combination (B) WGFT
(C) Annihilation (C) fasmar
(D) None of the above (D) IWiF | Pg T8l
65. In RC circuit, the transient current 65. RC uRuy ¥ efe ox7 e W
1S maximum at : TS Bl 2
(A) t=0 (A) t=0
(B) t=o B) t=
(C) t=RC (C) t=RC
D) t=(3)RC D) t=(3)RC
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66. Reverse saturation current in  66. TN AR H U HIW ORI AT
silicon junction nearly doubles for T HESINERSER
cevery - (A) 5°C T 9T §
(A) 5°Crise in temperature
(B) 10°C T dedl &
(B) 10°C rise in temperature
(C) 5°C Y Tedl @
(C) 5°C decrease in temperature
(D) 10°C T Tedr §
(D) 10°C decrease in temperature
67. Time constant of L-R circuit is : 67. L-R 9Rur &7 I79 ReRfe 8 ¢
(A) LR (A) LR
L
B) “/r (B) Ly
R
© 7/ (C) Ry
(D) None of these (D) T4 A DY 78l
68.  The width of the depletion layer of ~ 68.  IMINFT p.n. AT SRS & 3AeRT T
an unbiased p.n. junction diode is @ Herd BrE Bife @ e
of the order of :
A) 1um
A) 1m (A) 1u
(B) 1mm (B) 1mm
(C) 1cm (C) 1cm
(D) 1nm (D) 1nm
69. The Schering bridge is used to  69. ¥IIRT O @1 w0 9 & 0 ¥
measure : foar e %
(A) Resistance (A) ¥ SN
(B) Inductance (B) R
(C) Power (C) wfdd
(D) Capacity (D) @IRd
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70.  The width of the depletion layer of ~ 70. W & 3/@e W @I AT
a junction : (A) T I & 987 W dedt &
A) Increases as reverse voltage
) s (B) 3 dlecsl & de W dedl &
increases
(C) W¥F diecsl & d87 TR gedl @
(B) Increases as forward voltage
increases (D) A3 P
(C) Decreases as reverse voltage
increases
(D) None of the above
. 2
7. In series LCR circuit, if L= R—zz, 7. gofgH LCR uRuy ¥ afe L= R—Z,
LC 4L LC 4L
the circuit is : 0 GRuer I
(A) Dead beat (A) Bg qIel
(B) Critically damped (B) Fifdd 3@wfed
(C) Oscillatory (C) <iferd
(D) None of the above (D) SRIGT H 9 I3 el
72.  When germanium crystal is doped ~ 72. W9 W fhed § GRGRY AT
with  phosphorous atoms, it Gl aglﬁg e &) ol & g B B
becomes : (A) p-eT3y AT
A) p-type semiconductor
(A) p-typ (B) n-oTEd
(B) n-type semiconductor
(C) drdde
(C) Conductor
: (D) TP Tl
(D) An insulator
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73.  In the following which is not the

dimension of time :
(A) =
(B) CR
(C) VLC
D) =
74.  In p type semiconductor :
(A) Electrons are majority charge
carries.
(B) Holes are majority charge
carries.
(C) Photons are majority charge
carries.
(D) None of these
75.  The signal of which waveform is
to be observed on the screen of
CRO is applied :
(A) Across its X-plates
(B) Across its Y-plates
(C) Across a time base

(D) To the horizontal amplifier

73.

74.

75.

= o B AR @ oA T8 @

(A) =
(B) CR

(C) VLC

=~

(D)

p type (CT3Y) SfaTerd H

(A) Zolag IgHEId G aEd N
gl
(B) fIR Iguead a9 e B € |

(C) IeH dgaEId U qEdh B
gl

(D) T ¥ PIE Tl

CRO & TS W o/ Rl & &R a1

e/ <R B ©, I R W S &

(A) 3D X-TIel & 3IRUR

(B) U@ Y-TIl & 3IRUR

(C) TRA 49 & IRUR

(D) &foet yaef W
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76. A galvanometer in series with a  76. U& eddMIcR & AU ¥ Sod R
high resistance is called : Y TR Heddl € :
(A) An ammeter (A) U@ 3R
(B) A voltmeter (B) T Aleaiioy
EIC); Iél(::,lztz)nflfl:eerabove (©) @
(D) SWIE ¥ ¥ Bs Tl
77.  What is the role of a rectifierina  77. HecHiex H REaR! & ®&T o1& AT
multimeter ? :j‘\fhzm 27
(A) Bias purpose (A) AT & foR)
(B) Thermal stability (B) Swa i
C) Rectificati
(C) Recti 1.ca ion © £ R
(D) Inversion
(D) Sl AT GhH
78. A C.R.O. 1s used to measure : 78. Udh C.R.O. @1 TR 9 @ A o
(A) Voltage R T -
(B) Frequency (A) oo
(C) Phase (B) amafy
(D) All of the above °
(C) el
(D) SRia T
79.  Multimeter can be used as an  79. HecHIcR & TN MR B TRE WINT
ammeter by : 2] & 99
(A) Connecting series resistance (A) Sofierd TR oI &
(B) Making use of a transducer (B) AR & T B @
(C) Making use of a transformer .
_ (C) TRABRT &I TINT &R g
(D) Connecting shunts _
(D) e Sied @
80. A cathode ray oscilloscope is used 80. TP DS fdvur qraeel & W
for measuring : D A9 | fhar o7ar ©
(A) d.c.ora.c. voltage (A) d.c. T a.c. (Eﬁ_oé\_r[)
(B) d.c.ora.c.current (B) d.c.Ma. c. ORI
(C) Study of waveforms :
(C) TR &I A I AT BRAT
(D) All of the above
(D) SWIa I
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81. Basic circuit of multimeter 81. HeclHIER @I §3|21 & aRuy 7 & 9
consists of : BT 8
(A) a.c.amplifier (A) a.c. yatid
(B) d. c. amplifier (B) d.c. U@
(C) Operational amplifier (C) ifeHd Yaeid
(D) Power amplifier (D) wfdd PG
82.  An oscilloscope indicates : 82. U Qlogyll <M &
(A) RMS value of A.C. voltage (A) RMS AM A.C. dlees &1
(B) d.c. ora.c. current (B) d.c. T a.c. &RT
C) Peak to peak value of a
© P (C) diees &l RER ¥ RIER d& A9
voltage _ _
(D) T 9§ I TaI
(D) None of these
83.  Electronic multimeter measures : 83. Zoldid HeolHex A B
(A) Voltage, current and (A) dlee, RT 3R UfoRE
resistance (B) AT T URT
B) Voltage and current
®) 8 (C) 9RT qor wfed
(C) Current and power
(D) ol aor wifdd
(D) Energy and power
84. The material used to coat inner 84. CRT & 3<X @] RG o qerf @r
side of CRT is : é‘qﬁ,—q{\—ﬁmgwmé
(A) Germanium (A) e
B) Carbon
(B) B) o
(C) Sulphur
(C) ¥
(D) Phosphor
(D) IEUR
Series-D B.Sc. —B010201T / K-251 Page - 25



85. A Voltmeter should have 85. Tdh diecdier # =1 ufeRly g a1y
following resistance : (A) T
(A) Zero
(B) Very high (B) S v=
(C) Very low (C) dgd @A
(D) None of the above (D) SR H ¥ Pls Tl
86. At absolute zero temp, the valence 86. UH Y dM W, Yg AT TR AT ®
band of ©pure or intrinsic &7 wRITSTRdT S BT &
semiconductor is :
(A) Completely full ) Tﬁ e
(B) Completely empty (B) N9 A9 el AT Tﬁ el
(C) Half full (C) 3{%‘[{#
(D) None of the above D) SR & ¥ B T
87. In CE amplifier, an emitter 87. CEY®® ¥ & Iquid TR Rg @1
resistance Ry is used for : TN f9 w0 H B B
(A) AC signal bypass (A) AC RiTe GIERYIE]
(B) Stabilisation (B) Rerdiawur
(C) Collector biasing (C) HUTED AfAfT
(D) Higher gain (D) S=d o™
88. A network containing circuit 88. U® ol AT o, FoRH uRuY Heww AT
clements without any energy dcg foer fodl ool 9d & & Fgerdn
source is : 2
(A) Active network (A) b oTrel
(B) Passive network (B) Pfisa dara
(C) Negative network (C) OIS T
(D) Not a network (D) T 3
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89. In common base pnp transistor 89. IWIMG T pnp ¢IRER TaEG H

amplifier, power gain is : g1fdd oI Bl ©
(A Avd (A) Ava
®) “y ®
© “iy, © %,
(D) None of these D) o7 PE T
90. For a transistor f = 40 and Iy = 90. T ¢ifvRex & ford p =40 T Iz =
25 pA, the value of I; is : 25 A, I &1 9 B :
(A) 1mA (A) 1mA
(D) None of these (D) = J P T
91.  For a transistor, the current gain @ 91. TR & o)l oRT ¥ o o B
and f are related as : o H = g Wed §
@A) a=pd-a) (A) a=p(1-a)
B) a=4/1-a) B) a=p8/1-a)
©) a=pA+a) C) a=p(1+a)
D) p=a(l+a) D) B=a(l+a)

92.  Network theorems can be applied ~ 92. Gl THT & YA IAT Gofled AT

to networks with : 4 R g oM BT g
(A) DC source only (A) DC ¥ dad
(B) AC source only (B) AC 91T dad

(C) Both AC and DC sources (C) I AC @1 DC @i

(D) None of these (D) T Y e T
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93. In a transistor if ¢ = 0.9, f will 93. Ud Qﬁw ¥ I a = 0.9, p @1 A1
be equal to : o1 B
(A) 1.0 (A) 1.0
(B) 0.09 (B) 0.09
(C) 0.90 (C) 0.90
(D) 9.0 (D) 9.0
94.  For full wave rectifier the value of  94. CLUT—FI'@T fiean & ford Sfier oo
ripple factor is : T AM T
(A) 0.521 (A) 0.521
(B) 0.835 (B) 0.835
(C) 0.482 (C) 0.482
(D) 0.185 (D) 0.185
95.  Ge transistor are rarely used above 95.  Ge ¢ifRex &1 AN 4 a1 & IW
the temperature of : ST PN fhar ST &
(A) 50°C (A) 50°C
(B) 75°C (B) 75°C
(C) 100°C (C) 100°C
(D) 175°C (D) 175°C
96. The Maximum efficiency of  96. 3R Tl W‘T fCeaRl ol qgan
halfwave and fullwave rectifier g
are. (A) 81.2%, 40.6%
(A) 81.2%, 40.6% (B) 40.6%, 81.2%
(B) 40.6%, 81.2% (C) 50.8%, 80.3%
(C) 50.8%, 80.3% (D) 71.2%, 48.3%
(D) 71.2%, 48.3%
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97.  Thevenin’s and Norton circuit are ~ 97. 9df T AReqd & UuRuy 3y #
equivalent at : THTCY AT IXTeR Bl & :
(A) No frequency (A) CAF] 311'%[% el
(B) All frequencies (B) I amgferaf
(C) Resonant frequency ©) WT@H SH_CCﬁ%f
(D) Only at frequencies at which (D) el Il ?Jﬂ_ccﬁ%@ LR iR A e
these are computed TOET fR T Bl
98. In the circuit, Zener diode is 98. URUY H R SRS &I W A= H
always used in : THIT BT &
(A) Forward biasing (A) 31 3ffHf |
(B) Reverse biasing (B) U9 3R H
(C) Series with load resistance ©) dre uferier @ sroft 4
(D) None of these (D) SR | Plg Tal
99.  Superposition theorem can be  99. ?jCI'\’CﬁTrﬂW THT BT JANT S uRuY H
applied to circuit having : Hd & o 8 &
(A) Non-linear elements (A) NG A7 IR Y 95
(B) Passive elements (B) fftrg wew
(C) Linear elements © BCIREGEEa!
(D) Resistive elements (D) yfeRel e
100. A load line is a graph between : 100. TP ¥R X 91 & <19 U5 ®
(A) I and V. (A) I AT Ve
(B) I and Vg (B) I, AT Vg
(C) I and Vg (C) I T Vi
(D) I; and Vgg (D) I, T Vg
Se e e e v e
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, which is divided into 2
sections. Kindly attempt any 37 questions from section 1°* and any 38
questions from section 2", In this way examinee has to attempt only 75
questions in total. Every question has 4 options and only one of them is
correct. The answer which seems correct to you, darken that option

number in your Answer Booklet (O.M.R ANSWER SHEET)

completely with black or blue ball point pen. If any examinee will mark
more than one answer of a particular question, then the answer will be
marked as wrong.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination, please hand over the O.M.R. SHEET to

the Examiner before leaving the examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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